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Choose the Right Expression.

n replaces the unknown variable

Brian has Archie comic books. His neighbour gives him 8 more. How many
does he have in all?

Mona picked apples on her first visit to the orchard. The following week, Mona
picked twice that amount. How many apples did she pick in total?

Mrs. Peach teaches a grade 5/6 class. She has 14 grade 5 students and
several grade 6 students. How many students does she have in all?

Sally has many stuffies. Her older sister, Jean, has 3 times that number of
stuffies. How many stuffies does Jean have?

Caleb made 32 cookies to share with his friends. How many cookies does each
friend get?

Marco ate a few chocolates from his Halloween treat bag. Ben at five times
more than Marco and doesn't feel very well. How many chocolates did Ben
eat?

Pat no longer wanted his Lego mini-figures. He gives them to his neighbours 3
children to split evenly. How many mini-figures did each child get?

Snoopy writes letters on Monday. He writes another 3 on Tuesday. How many
letters did Snoopy write in all?

Norbert had 25 Pokemon cards, but didn’t notice that some dropped out of his
pocket on the way home. How many Pokemon cards does he have left?

Tristan is collecting food for the food drive at two school. The first school
donated 8 boxes of food. The second school donated some boxes, too. How
many boxes have been donated?

Denzel and his friends won a contest. The prize was 100 dollars. He splits the
money with his friends. How much money did each person get?

Devon raked and bagged leaves in his backyard. A neighbour offered to get rid
of 3 bags for him. How many bags are left?




